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7 100kN/M%E#B A5 — -~ - —|3mEBRB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ — - —
zh st 1.00 1000 ~ 675 85.30 | Fhs |o0oo ~ 675| 1.89 10.12 Th st 1.00 | 5,00 ~ 856 85.30 | TnS | 500 ~ 856 | 1.89 10.12
2 100kN/mM%EBZ5| 1.00 | 000 ~ 014| 102.04 |3mEBZB| — ~ — — — | 100kN/MZEBZ2 | 1.00 | 1070 ~ 1106 102.04 |3mEEZD — ~ — — —
ZFhilst 1.00 1014 ~ 792 100.00 | Fhs | 000 ~ 792|228 12.21 zhils 1.00 | 500 ~ 1070 100.00| Thids | 500 ~ 1106| 228 12.21
3 100kN/M%E#B A5 — -~ - —|3mEBAB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ — - —
zh s 1.00 | 000 ~ 738 94.16 | h4s | 0oo ~ 738 1.79 9.58 Th st 1.00 | 500 ~ 9.56 94.16 | N4 | 5,00 ~ 956 | 1.79 9.58
4 100kN/MZz#z25 | 1.00 |ooo ~ 078 111.69 |samx#z22| — ~ — — — | 100kN/M%&#z2% | 1.00 | 1053 ~ 1282 111.69 |3mE#iD - ~ — —
ZFhllst 1.00 1078 ~ 857| 100.00| Thids | 000 ~ 857|218 11.67 Th st 1.00 | 500 ~ 1053 100.00| FThs | 500 ~ 1282| 218 11.67
5 100kN/ Mm% Z % — - ~ — —|3mZEBZD - ~ — — — | 100kN/ Mm% Z % — ~ — —|3mEBZD - ~ — — —
zh st 1.00 000 ~ 766 98.14 | #n4 | 000 ~ 766\ 2.39 12.78 zns 1.00 | 5.00 ~ 1092 98.14 | #n4 | 5,00 ~ 1092 239 12.78
6 100kN/MZE#z25 | 1.00 | 000 ~ 219 13394 |3mE#z22| — ~ — — — | 100kN/M%&#z2% | 1.00 | 1053 ~ 1928| 13394 |3mE#i5b - ~ — — —
Zhilst 1.00 | 219 ~ 997 100.00 | Ths | 000 ~ 997|236 12.64 Th st 1.00 | 500 ~ 1053 100.00 | Fhs | 500 ~ 1928 2.56 12.64
- 100kN/m%E#8Z5 | 1.00 | 000 ~ 159 124.35 |3mZEBZE| — ~ — — — | 100kN/mi%E8z3 | 1.00 | 1071 ~ 1601| 124.35 |3mERZS - ~ — — —
Zhlst 1.00 | 1.59 ~ 938 100.00 | Ths | 000 ~ 938|248 13.28 Th s 1.00 | 5.00 ~ 1071 100.00 | Fhst | 5,00 ~ 1601| 2.48 13.28
8 100kN/m%#25| 1.00 | 000 ~ 0.70 110.43 |3mZBZA 5 - ~ — — — | 100kN/m%E# %% | 1.00 | 1096 ~ 1298 110.43 |3mZEZA5 - ~ — — —
ZFhlst 1.00 | 070 ~ 848 100.00 | Ths | 000 ~ 848 234 12.52 Th s 1.00 | 500 ~ 109 | 100.00 | Fhs | 500 ~ 1298 2.34 12.52
100kN/M%E¥BZ % ~ ImEBAD ~ 100kN/mM%E#BZ % ~ ImEBAD ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/mZ#8 %% ~ 3ImEBZD ~ 100kN/mZE#B %% ~ 3ImEHBZD ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ M%7 % ~ 3ImEBZD ~ 100kN/m%E#B 7% ~ 3ImEBZD ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ M%7 5% ~ 3ImEBZD ~ 100kN/mZE#BZ 5% ~ 3ImERBZD ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ M%7 5% ~ 3ImEBZD ~ 100kN/mZE#BZ 5% ~ 3ImERBZD ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ M%7 % ~ 3ImEBZD ~ 100kN/m%E#BZ 5% ~ 3mERBZD ~
zhst ~ zhst ~ zh st ~ zhst ~
100kN/ MZEHBZ % ~ ImEHAD ~ 100kN/ Mm% B2 % ~ ImEHAD ~
zh st ~ zh st ~ zh st ~ zh st ~




